2. WEHB IR

FREXRERE
ES | PIE 2 [EIpas o [EIpas=
ﬁ- 1 %
e 13 13 100.0
1 45 44 97.8
i 5E 10 9 90.0
/5B 2 30 29 96.7
P R 22 20 90.9
& &t 120 115 95.8
(1) 52 &R
A ORI Sk RamL
woEplml e sl Bz MRk aE|E FEpN FE|Y-ER
GEs - 8| 20| 22| 10| 25 Mws- s 8| 17| 22| 11 0
A Z| 38| 23] 33| 21| 50 N Z| 31| 40| 44| 37| 65
AL WA sa| s7| 44| 69| 25 AL - WA 62| 43| 33| 52 35
OiFER-#4 eF%E oFi-EL OiFéR-18i0 eFZE OB-FHD
) ) P
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
Q) EEDEIR
- 5 B DRI ko Faml
e oElEL E|E SN E[r-bz doEk|R | E e B[R
ArES - o] 12] 22 7 5 AR - M) of 12| 11 4l 0
i Z| 46| 47| 44| 31| 55 i Z| 50| 44| 67| 50| 47
AL WA 54| 42| 33] 62] 40 AW 50| 44| 22| 46| 53
DiFE- M BT OEL-EL OfFEE- N 8% OE-ED

7

e e

=z

0% 20% 40% 60%

80%

1

00%

d

=z

0%

20%

40%

60%

80% 100%

() A Mook = BIERE CERL254ETH ~9H ) LE~7=4 W CERE264E7 H ~9H) Okt
S0 Jaml = FiERIE CEA254F10H ~12H) b7k O 264510 H ~12 ) ® Rl

2




(3) E &HY DB

A H ORI SO HaEL
R R I N e R I N
It i - 18 0 0 5 11 3 5 - i - 18 N 0 7 0 4 0
A 2l 62| 60| 78| 59| 63 -~ 2l 69| 64| 78| 46| 68
Ak - WA 38| 35 11 38| 32 AL WA 31 291 22| 50| 32
OifEs-1E0 @F%E oFE-E Di7Ex-1En BFZE OE/L-ED
H—t'2 H—t"R
INGE NS
ENFE #En5e
w i
e ‘ ‘ ‘ ‘ ‘ e =
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
(4) ¥EW (B 4L) oEhE
A ORI Koo Hasl
N R N e N I N e
It iz« 5 0 ol 20| 22 7 5 I #is « B8 0 15 11 8 0
N |l 54 39 56 36 70 AN |l 46| 48 89 492 65
AL - WA 46 41 29 57 25 AL - WA 54 38 0 50 35
OitEs-1En ef%E oFEL-EHL OiFE5-1#EMN BeFZE oEL-FHD

J

0% 20% 40%

60%

80%

100%

J

Zd

0% 20% 40%

60% 80% 100%

() A BRI = BRI CER25TH ~9 1) L~ 4 W (R 264E7 H ~9 1) DiIRPL
KO FaaL = ATERS CER254E10H ~12H) LEE~TkR M CER264E10H ~12 ) D AL




